Honors Geometry

Homework for Section 3.5

5.
Given: JH = KH. H M
HG = HM 6
5 =.6 5
Prove: AJHG = AKHM
J
K G
Statements Reasons
o.
Given: YW bisects AX z Y
A= X
:5=.6
Prove: ZW =YW (3
A w X
Statements Reasons
Baroody
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Honors Geometry Homework for Section 3.5

10.
. _ A
Given: B is the midpoint of AC
E is the midpoint of AD
L7 = 48
.ECD = .BDC B E
Prove: AC = AD
7 8 N
X C DY’
Statements Reasons
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Honors Geometry

Homework for Section 3.5

12.

Given: HO = MO
JO = KO

HJ is an altitude of AHJK
MK is an altitude AMKJ

Prove: A =.2

Statements

Reasons

Baroody
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